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QUESTION 1

What is a benefit of application virtualization? 

A. Avoids conflicts between different versions of the same application 

B. Enables an application to directly access a LUN on a storage system 

C. Runs applications without requiring the use of cache memory 

D. Presents more memory to an application than is physically available 

Correct Answer: A 

 

QUESTION 2

What is a benefit of configuring EX_Ports on each Fibre Channel over IP (FCIP) gateway in an FCIP tunnel
implementation? 

A. Enables FC-FC routing through the FCIP tunnel with outmerging the fabrics 

B. Merges the fabrics at either end of the FCIP tunnel to create a single large fabric 

C. Transfers VSAN tagged traffic over the FCIP tunnel without FC protocol overhead 

D. Creates eight virtual FC links on the FCIP tunnel that can be paused and restarted independently 

Correct Answer: A 

 

QUESTION 3

What is a benefit of using content addressed storage (CAS) as an archival solution? 

A. Ensures content authenticity and integrity 

B. Supports location independence using different content IDs for an object 

C. Provides the ability to perform production operations on the CAS 

D. Enables modification of archived data 

Correct Answer: A 

 

QUESTION 4

What is an advantage of a software-based object storage implementation? 

A. Provides the flexibility to reuse the existing infrastructure 
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B. Requires less storage capacity to store a large number of objects 

C. Provides the flexibility to create more than one object ID for an object 

D. Requires less hardware to support scalable architecture 

Correct Answer: A 

 

QUESTION 5

An organization plans to deploy a new backup device in their data center. The organization wants the new backup
device to support their legacy backup software without requiring any changes to the software. In addition, the
organization wants the backup device to provide random data access for better performance. 

Which backup device should be recommended? 

A. Virtual tape library 

B. Tape-based backup appliance 

C. Tape library 

D. Optical juke box 

Correct Answer: A 
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